R & AR

1%
© K15 E=-—19L smniL:)
Aney 2 7 5

B Q(C) #oL 2BRE 12 E= 4;0 Q(—aa,+2a,)

(a‘+zl)&l
BW—Q(C) 2K 2ERE, 1 E= 4:.50 —?;::;:;fnaz)
BREELAEDENTIIVOT
E=E+E,
_ 1 Q(—aa:+za,) 1 —Qlaaz+za;)  —Qaa:

=T @DV Tiza (@7 - immlai+e) P (V)

@ #¥#Fr B hOMEOMMEEZLY 7.
(I-i) r<ant i
Hy AQER [ (FEM) X (BF) = (REAR) /e T

220 =2xrh X E=2xrkE Eiv.=elo o

~ ey
Zhih, E= s (V/m)
(I-ii) a<rot %
FEB=2nrh X E=2arhE Hall= :1; na*ho

Zhiy, E=% (V/m)

AL V——f Edr——f Ldr—-z%ln 5 (v

V(a)- r

;-zo

(I-i) r<a®t s
V= —f’Edr+ V() =—f'ﬂdr+ Via)

@ T ITik, MMmIIRENS D, BHEEIBITICL > TEITHOT, 7R
OB (-7 2M-T, FRZWRFPTHLEXH) 7.

208



(I-i) r<amt

kil =4zr’E )

Eﬂ=éfvpdv=-% vm(%—l)dv=—-:;—fvm(—:--l)r’sinﬂdrdMP
P
_ Az (' ")

& \da 3

roT E=—%(—E—%)[V/m]

(1-ii) a<rDt &

ED=4xr'E

Eﬂ=—%j;'(%—l)ﬂdrfo'sinodaf:'dqs

=_4ﬂ['_‘__ﬁ]:____“_ﬁ°(a_‘_a_’) Towa
& l4a 3 & \da 3

3
toT E=-25_1 v/

127gy 2
@ (1) AMEEY, %4
__1 dor
dE= e g dz
1 Adz z
=EW(—M,+M7) 2=0
SIT, ana, i ERER, FALEE 2 K, - I 3¢k
HADOYE N b,

(2) Th#zzWehATHlsd 2.
@ LI | Adz
E= -de:f-m_4m T+ 7 (—za:+aa,)

= A (" _—zdz ©  dz
~ 4ne (f-a: (22+a%)? a,+af_°° (z2 4?32 ¢')
1 HHOMMIEOIZZ ), 2HHOMMIR, 2=atanf LT 5 WP LY RD
5L,

=ﬁ a, (V/m)

CHhRH I ADEMTROBLE SO L—BL TS,

..........................................................

209

RRCRE EENE



